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Solutions {ov Tasks 1,2 ,5,¢
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Task 2 A= [Z é] :

(a) rauk(A) =2 , becamse [1] and [:] ace linesdy independect; or: hecause /g Z-’.; -4
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(f) A'=[3 &]
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task 2 (b), !
graphical
part:

Task S

( 9oes throwglh Hoo posiRons of array X | starkay with 0

As seon a5 the Corresponding entry of X (xC) ) s Gual b a
b gets the value "{11;:.“ and Ha while-loop stops .

¢ 15 then reburndd | e, e resald is fha posilow of e Lirst
ety equal Yo a in Array x,

1§ uno ‘@’ is found in X , b ramain frae, and Hee value -1
is returaed .
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